AABRE
107 4 06 A 30 A

(B ¥+ 1)

¥ 8 107 4 06 A 30 B 106 4 06 A 30 A
BAEEAR:
% T A 1,914, 846 1,898, 890
BT A 178, 753 158, 721
(DB A EALH# 2,093, 599 2,057, 611
RS AR
= AR 11,074, 435 11, 040, 793
T 379, 300 383, 788
T 1,225 1,095
(BRI H & & &% 11, 454, 960 11, 425, 676
TAERE%)=(A)/(B) 18. 28 18. 01

A AP T IHEERA — F AR E R




B ARG

107 %06 A 30 B

A B

10706 A 30 B

106 4+ 06 A 30 B

F-—BEA

R &

717,948

724, 301

BALH(EER
AEXE NI

b, 147

9, 608

% BAR

1,064, 439

1,045,875

5] BAR

94, 584

94, 584

R BEE

32,128

28,472

HBHBAMIER (/51
BREHEEESHE AR
BERAEZLRI)

A Ik

HETRRAM AP IEKX

B ARIAE

FBALSWN)

1,914, 846

1,898, 890

F_RBEA:

Bl & B & BN

ERCEEE

e EeaE ERT R
%2 45%

58, 913

41, 601

B ERGABIRIR

119, 840

117,120

M EARIoRIA B

£ _RBEAAIT®B)

178, 753

158, 721

8 A & AEH=(A)+(B)

2, 093, 599

2,057, 611

TR LR VEET VRS o




12 F B 3R 42 o #E R M B 2 %R

107 06 A 30 H

(B #HeEHTT)

A BRI B AR R R R | A BRI B A %R

EHBE 643, 493 0
IE 7 R BUF A FEER 0 0
AT (& Z R 7,425, 481 1,549, 134
1)
¥ (EFRISER 454, 844 454, 844
AP,
LER#% 7,125, 105 6, 138, 287
EERAREE 3, 096, 967 1,397, 331
HRFEHIRE 317,035 940, 463
HE E 668, 977 094, 376

ol 19, 731, 902 11,074, 435

AR BERIEIRARFRRAELE LN RIMIBRRHHFE

B R %R

fE ¥ RIR BT R E A

107 s 06 A 30 B

(B ekt

+ K XA TR E A
104 + K 207,763
105 F & 201, 227 30, 344
106 = & 249, 601

a3 798, 991 30, 344

EFERRERAE AN =ZF 7 HEAZFET X LA T

& *12% -




T3y R R EHIR B A

107 s 06 A 30 B

(B Afr : # & HAF L)

R3] BH R
QEYV :
#«\ \‘ ’)ﬂ(]—,"n]{é‘ﬁ\ O
AN i
s 98
T EBAMORBRELBTRE A
107 406 A 30 B
(B4 # 6 AP L)
IE A 46 4R AT
BAGRE | RRBH g e
5 3A) BHRRRS EH
] EHRLEREE | BIREA
BAT 0 ) O
% 0 0 0
&3 0 0 ’
BEERRA

L ERA R EEARBTAELALEE  MREEALR(BETABAEFHE0)
EEHb ) EARRBBRENRRIERIL Z ZREE > BHREA
%mﬁﬁAﬂ%m&éz%%%iuﬂwﬁﬁiﬁﬁ~@@%%&zﬂ%ﬁﬁ

2.k BHATHEZ B A

#100%) %2 BB AR WwhXHHEZRE

SR REA

ARHL > ARE

AARRE




